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Complex Number can be written as Euler’s Form: I"CIS@ =re
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Show the equality of 7'CLS 6 =re using the series below:
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a) Write e_% in Cartesian form "i b) Write i~ in Euler’s form.
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Example) Using cis@ = e” , prove
a) cisOcisf =cis(60+ )
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e De Moivre’s Theorem: [r(cos@ +isin@]" =r"[cos(nb) +isin(nb)] 3 (}' Cis b ) h
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Y Validate [r(cos@ +isin]" = r"[cos(nd) +isin(nd)] for ne Z* by Math Induction ~ = FrGishg.
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Example 1) Find the'exact value of 3 +i).
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e nth roots of r(cos@+isin @) using De Moivre’s Theorem
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Example 2) Givenz* -81=0, B
a) Solve the equation by factorization. . Cigh = Cis ( 0 +2 NC)
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b) Solve the equation by De Moivres' theorem. &l = 8¢ S@ t+2 k’c:] l
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Example 3) Find the cubic roots of 8i
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